


US Tax/Transfer System, single parent with 2 children, 2009
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Source: Piketty, Thomas, and Emmanuel Saez (2012)
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20.3
The Laffer Curve



Optimal Top Income Tax Rate (Mirrlees ’71 model)
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Source: Diamond and Saez JEP'11



Disposable 
Income

c=z-T(z)

Market 
income z

z*

z*-T(z*)

0

Optimal Top Income Tax Rate (Mirrlees ’71 model)

Mechanical tax increase:
dτ[z-z*]

Behavioral Response tax loss: 
τ dz = - dτ e z τ/(1-τ)

z

Source: Diamond and Saez JEP'11



1
1.

5
2

2.
5

E
m

pi
ric

al
 P

ar
et

o 
C

oe
ffi

ci
en

t

0 200000 400000 600000 800000 1000000
z* = Adjusted Gross Income (current 2005 $)

a=zm/(zm-z*) with zm=E(z|z>z*) alpha=z*h(z*)/(1-H(z*))

Source: Diamond and Saez JEP'11



Starting from a Means-Tested Program
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Introducing a small EITC is desirable for redistributionConsumption
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EITC Amount as a Function of Earnings
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